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p. 173, 1178

0.3 0
ky = hf(0,0.3) = 1 x {4 + 0.6 exp 7 cos (0 + g)} = 0.594615,

v
0.3 0 T
k1 = hf(zo,y0) =1 % {4 + 0.6 exp <4> cos (0 + 6>} = 0.594615,

WETIELEJ.

p. 173, 31TH

0.597308 0.5
—1x { +0.6exp = cos (0.5 v %) } — 0.503070,

&
0.3 + 0.594615/2 0.5 w

—1x { ; +0.6exp (4) cos (0.5 n 6)} — 0.503070,
WEIIEL (9.
p. 173, 517H

=1 {99900 ep 92 cos (0.5 n 5) — 0.491627,

4 6

e

B 0.3 + 0.503070,2 0.5 N

—1x { ; +0.6exp (4) cos (0.5 v 6)} — 0.491627,
WETIEL (7.
p. 173, 7178

0.791627 1 w
—1x { T+ 0.6exp § cos (1 + 6)} — 0.234255,



0.3 +0.491627 1 T

WETIEL £5.

p. 173, 9178

1
Y1 ="yo + a(kl + 2ko + 2k3 + kyq) = 0.767911.

1
Y1 =Yyo + 6<k1 + 2ko + 2k + k4) = 0.769711.
WETIEL 7.

p. 177, I\ (6.55)

Yij+1 = Yij + hfilyig, 25, s ¥nj) (E=1,2,---,n) (6.55)

Yij+1 = Yij + hfi(zj,y15,925,  yny) (1=1,2,---,n) (6.55)
WETIEL £

p. 177, I (6.56) D 2 ITEHH S 4 17B

h 1 1 1
ki,Q = hfi <sz + 5,3/1,]' + §k171,y27j -+ §k2717 S Unj + 2kn71> R

h 1 1 1
k‘i,?, = hfz (l‘z + §,y17j + 5k1,2,y27j + §k2’2, Ct Yng T 2k‘n72> s

kia=hfi (xi+h,yij+kis,v2;+kas, - Unj+ kn3),

h 1 1 1
kio=hf; (LJ + 50 YL + §k1,1, Y25 + ikz,h ot Yng T 2kn,1> ;

h 1 1 1
k‘i,s = hfi <:L’j + E,ij + 5]{1,2, Y25 + §k272, o Yng + an,2> ,

kia=hfi(zj+hyr;+ ks vz +kas, o Unj + kns)



WKEIIEL ¥ 9.

p. 223, I (7.74)

1 N-1 '
U= Tpe'2mki/N (7 =0,1,
k=
% 0
N-1 A
uj = akeﬂﬂkg/N (] =0,1,
k=0

WKEIIEL ¥ 9.

(7.74)

(7.74)



